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7P =p (pg/md) | 0.015 | 0.016 | 0.016 | 0.0082 | 0.011 | 0.012 | 0.013 | (2LIF)
TENT I B (ng/m) | 2.1 2.1 1.8 L5 — — 19 (120 BIF)
b=t v—  (ug/d) | 0.017 | 0.017 | 0.013 | 0.012 | 0.0074 | 0.0081 | 0.012 | (10 LLTF)
LA (1 g/m) 1.4 1.4 1.4 1.4 1.3 1.4 1.4 94 BIF)
JUNROFOA  (ng/md) | 41 3.8 3.6 2.5 - — 3.5 -
VEET I (ug/m) | 0.25 0.21 0.21 0.20 0.17 0.29 0.22 | (18LLF)
k=T 1 (pg/m) | 0.073 | 0.076 | 0.071 0.25 - - 0.12 -
L-vynnzhy  (pe/md) | 0.30 0.22 0.17 0.16 0.16 0.16 0.19 | (6P
Y pmnphy (1 g/m) 1.3 0.99 0.98 L3 0.97 L1 L1 150 DA F
7Ny (ng/m) | 0.14 0.24 | 0.052 | 0.033 | 0.041 | 0.033 | 0.09 | 200LLF = 5%
b ynnzfly (ug/m’) | 0.043 | 0.065 | 0.051 | 0.051 | 0.032 | 0.062 | 0.051 | 130LAF ;];( ;:T
pz (ng/m) | 4.6 4.2 5.9 2.8 43 5.3 11 - i
9L E (ng/m) | 4.0 4.5 3.6 2.1 - — 3.6 (25 BLF)
LEROFOAY  (ng/id) L5 1.4 1.8 L5 — — 1.6 6 LLF)
L3781y (ug/d) | 0.048 | 0.041 | 0.029 | 0.023 | 0.035 | 0.069 | 0.041 | (2.5LF)
RVEEOsS  (ng/d) | 0.020 | 0.023 | 0.021 | 0.016 — — 0. 020 -
NV (pg/m) | 0.72 0.68 0.64 0.63 0.73 0.96 0.73 3LLF
AoV al¥Ly (ng/d) | 0.085 | 0.082 | 0.10 0.11 — — 0. 094 -
WATIVF LR (ng/m) | 2.0 2.2 1.9 1.4 - — L9 -
<R (ng/m’) 20 20 24 17 — — 20 (140 LIF)
MR (ng/md) L7 L5 1.8 L9 — — 1.7 (40 L'F) -
o (ug/m) | 0.87 0.79 0.94 0.53 0.99 1.2 0.89 - GO
N (ng/m 1.1 0.98 1.4 0.88 1.4 1.1 1.1 - gD
NN (1 g/nd) L0 L0 0.92 0. 46 0.83 1.7 0.98 - 20 Wt
Lo gmn7 on Y (pg/id) | 0.044 | 0.044 | 0.044 | 0.045 | 0.049 | 0.047 | 0.045 - ﬁfi‘t
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